2HMS= PN B32A=H
222292 J|Et &=
232208 =4 (S M)
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
S32Z 80,026,422 65,309,338 14,717,084
= 25,176,164
= 2,377,846
| 13,673,861
= 38,798,551
292 J|gt &5 47,870,502 34,451,182 13,419,320
= 22,699,770
& 25,170,732
32 =08t =4 5,007,505 3,898,500 1,109,005
= 1,771,720
= 3,235,785
2219202 SSEAHAZ ALY K& 60,000 60,000
308 XXM SO & 60,000 60,000
11 312 S0 HeHE & E 2 &AL 60,000 60,000
Ogd & - E|2EX St EE 2e| 60,000
BAHAZEX SEXNEHMA == 87,500 87,500
308 AXIHMSOI& 87,500 87,500
01 XN BAEES 87,500 87,500
OBH=Z =X SEXNEMAH =5 87,500
3322012 M Y W= 9,000 9,000 0
201 B2 AH| 9,000 9,000
01 ArR222lt| 9,000 9,000
O339=J|2 M U U= 9,000
S3BHAS KA 2H 300,000 300,000 0
307 212+01 A 300,000 300,000
05 QIZtRIES 300,000 300,000
O3z X 29 300,000
KNENHEA 234 23H(SS2HAZXAE 2)( 300,000 300,000 0
=7)
= 150,000
& 150,000
307 QIZt0|A 300,000 300,000 0
= 150,000
& 150,000
05 QIZtRAES 300,000 300,000 0
O=2BHAZ XA 2Y 300,000
= 150,000
= 150,000
SEEAESHE 29(=31) 114,800 82,000 32,800
= 57,400
& 57,400
301 LeBEF 114,800 82,000 32,800
= 57,400
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a3 PARSR SN : BBoI2D
B DZAIE JlEt HE
el 332018t =4 (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 1,187,500
307 QI2H0| ™ 2,375,000 2,375,000 0
= 1,187,500
= 1,187,500
02 QIRHE &AL E X 2,375,000 2,375,000 0
OXNAESSEH2AE EHMA ASAY 2,375,000
= 1,187,500
& 1,187,500
NABSEH2Z =AM 2SME(=2)(H2) 25,000 25,000 0
= 12,500
= 12,500
402 QI2ERH201 N 25,000 25,000 0
= 12,500
= 12,500
02 QIZFXE2AIE 2 X (01 & THS) 25,000 25,000 0
OXNFE3E2H2z g=8AH =5 25,000
= 12,500
o= 12,500
339202 2E XA 42,862,997 30,552,682 12,310,315
= 20,928,050
& 21,934,947
o2 BN F& 354,100 216,900 137,200
201 Ler23AH| 22,100 26,100 A4,000
01 At2eltl 22,100 26,100 24,000
O ABIMH =&aaE8 s 5 24 22,100
202 04| 8,000 10,800 22,800
01 =WHO4HI 8,000 10,800 A2,800
OXNgAZSH ML =& 8,000
307 2IZto| A 324,000 180,000 144,000
02 QIZtBAAIHE X 324,000 180,000 144,000
OHUZUS A 2&&e=s XA 324,000
HXOZA A0t XS s B2 75,000 72,000 3,000
308 KXIHMSOIH 75,000 72,000 3,000
01 AXSHBLEES 75,000 72,000 3,000
Oz d A0t MZ)Is 2 75,000
S22 0|2 FHUX A0 OFIRES) s & 150,000 0 150,000
308 KXIHMSOIH 150,000 150,000
01 IXSHHBAEES 150,000 150,000
O322= 0|2 FHX A0 ORMIAZEIS
22 150,000
AR O|HAIF A 684,000 0 684,000
401 Al HIL SR CHY| 684,000 0 684,000
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a3 PARSR SN : BBoI2D
g S32A%F JIE &2F
tel: 332012 29XA (S M)
2 RA - BB EI(B) - MRAEY - BaS ofl &t i HIDEZ
01 Al&H] 684,000 0 684,000
OdHAZE OlA &= ALY 684,000
Ngolgd JIsE2Ad(=R0) 25,506,000 21,708,000 3,798,000
= 13,257,000
& 12,249,000
402 BIZHA=01A 25,506,000 21,708,000 3,798,000
= 13,257,000
[ 12,249,000
02 QI XEAILEAR(0IETHE) 25,506,000 21,708,000 3,798,000
oNgozd JIsEd 25,506,000
= 13,257,000
= 12,249,000
Ngol2d JlsS4s & 288 HE(=1) 12,450,000 6,134,000 6,316,000
= 6,225,000
= 6,225,000
402 21+ XH=01 ™ 12,450,000 6,134,000 6,316,000
= 6,225,000
& 6,225,000
02 QI XZAILEAR(0IETHE) 12,450,000 6,134,000 6,316,000
oXNgezd JIsEd 12,450,000
= 6,225,000
S 6,225,000
ZOHQIISTHEIAIE JIsEZ(21) 223,333 0 223,333
= 67,000
= 156,333
402 QI+ XHE0[ & 223,333 0 223,333
= 67,000
= 186,333
02 QI XZAILEER(0IETHE) 223,333 0 223,333
OZMLISTHEAE JIsE2(=1) 223,333
= 67,000
[ 186,333
ozl 323 S XFAZ(FD) 558,100 405,312 152,788
= 279,050
= 279,050
402 212+ X+=201& 558,100 405,312 152,788
= 279,050
S 279,050
02 QIZHXHZ AL 2 (01 M THR ) 568,100 405,312 152,788
OXgegd HAIEEALY AFAMY 558,100
= 279,050
= 279,050
XNgo2d mA 2=e13 o4 X (21) 2,200,000 1,400,000 800,000
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a3 PARSR SN : BBoI2D
B DZEAIE JlEt HE
tel: 332012 29XA (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 1,100,000
& 1,100,000
307 QIZ2t0|A 2,200,000 1,400,000 800,000
= 1,100,000
& 1,100,000
02 QIRHE &AL E = 2,200,000 1,400,000 800,000
OXNgo=d A o= o124d| XA 2,200,000
= 1,100,000
= 1,100,000
ZEAZH SYAHCIYL 22 89,964 128,520 A\38,556
307 2I2to| A 89,964 128,520 A\38,556
02 QIZtBAAIHE X 89,964 128,520 A38,556
OS2z 3 YA HL 2HX2A 89,964
SSEN FEEMA 2= 22dl S N 21,000 21,000
308 KXISHHM SOl 21,000 21,000
01 AXEHBLEES 21,000 21,000
OZ2g&A =8HH F= o2dd & K& 21,000
o|Z & Z0t XI&AS 21,000 30,000 A9,000
308 AtXISHMS0IH 21,000 30,000 A9,000
01 IXSHBAEES 21,000 30,000 A9,000
0oz =28t X&AZ 21,000
AT I|2 J|IsEL 530,500 0 530,500
402 CIZERH=201 530,500 530,500
01 QIZIX 2 AL B R (KX TH ) 530,500 530,500
OVUCTHEL FXT 45, 84X
SaYsIA 530,500
OZHUX & HAHNE =MD 25} 14,596,099 13,696,637 899,462
= 461,994
s 2,377,846
J| 5,841,640
& 5,914,619
o|ZF X XA 9,669,236 9,109,286 559,950
= 431,994
s 2,377,846
| 4,285,640
= 2,573,756
20HF K] XA (21A481)(21) 2,775,000 2,775,000 0
s 1,850,000
= 925,000
308 AtXISHMS0IH 2,775,000 2,775,000 0
sy 1,850,000
== 925,000
01 AXISHHBAEES 2,775,000 2,775,000 0
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D BANE2 2N S38= 1
DORHSA & FHAYHES A=Y 25t

13_%; Sl F X K& B S (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
OS2 X2 A Q124H| 2,775,000
[ 1,850,000
S 925,000
OIS H AR XA (A0 AED 1A4H])(21) 375,000 375,000 0
= 250,000
[ 125,000
308 NHAIEFMISOIE 375,000 375,000 0
[ 250,000
= 125,000
01 HAHHBSEx= 375,000 375,000 0
O2AZF X XA 22| 375,000
[ 250,000
= 125,000
eHNBl E4F olTet = 100,000 100,000 0
308 AXIHHSOIA 100,000 100,000
01 AXHHBSELS 100,000 100,000
OLPE Lo OrMEE E4F AE 100,000
VR FAF orME E4 AIAY HO0IE NE 300,000 300,000
402 BIZtA=01A 300,000 300,000
01 QI XE AL AR (XHHITH ) 300,000 300,000
OLRE AT QHMBELMAIAE HHOIE
A& 300,000
ZHF AN 2AZHEL K& 200,000 200,000 0
308 XXM SOIA 200,000 200,000
01 XN B SEES 200,000 200,000
ozaie =298 XA 200,000
FHAX SS2Ag4H K& (=1) 520,000 497,880 22,120
Jl 520,000
307 212+01& 520,000 497,880 22,120
J| 520,000
02 QB AAHE X 520,000 497,880 22,120
OF %X S=2A=HE 22X 520,000
Il 520,000
FHoXl FHEA HERA #=(=1) 45,700 37,800 7,900
) 45,700
307 elztol & 45,700 37,800 7,900
Jl 45,700
02 QB AANSE X 45,700 37,800 7,900
O A HEHT 7= 45,700
Jl 45,700
FHXA =282 XE(=1) 2,716,000 2,796,280 80,280
Il 2,716,000
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A3 BAMS=

Hu: o2FoHK| U A

=

UHE Azt A5}

&l o HAX XA (chel: &)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ

308 XX HMSO0IA 2,716,000 2,79%,280 /80,280
Il 2,716,000

01 MXHHBSE xS 2,716,000 2,796,280 280,280
OF A s=2d=72 28XE 2,716,000
Il 2,716,000

8228 DEHAXY X (gHz)2 X )(=1) 200,000 196,680 3,320
Il 200,000

308 XXM SO0IE 200,000 196,680 3,320
Il 200,000

01 MM EXS 200,000 196,680 3,320
ogXo =012 X& 200,000
Il 200,000

2292 DEHAXA XA (AS& A ) (21) 408,940 258,700 180,240
Il 408,940

307 elzZtol 408,940 258,700 150,240
Il 408,940

02 UABLAHREX 408,940 258,700 150,240
O2t5018 A 408,940
Il 408,940

Bo 2012 |(T&8 & A(XXA XE)(=1) 40,269 36,718 3,551
[ 26,846
= 13,423

308 AXIEHMSOIA 40,269 36,718 3,551
s 26,846
= 13,423

01 XM B2 xRS 40,269 36,718 3,551
OXIXAl XI& 40,269
[ 26,846
< 13,423

SAOIRIIB (T 28 ST A (AR X2 102,000 106,200 4,200

)=1)

[ 51,000
= 51,000

307 2iztol e 102,000 106,200 A4,200
[ 51,000
= 51,000

02 2B AAHE R 102,000 106,200 A4,200
OZE=HEHA X2 102,000
[ 51,000
S 51,000

DRE M2 XEE XEA(21) 450,000 450,000 0
Il 300,000
& 150,000
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A= S A BB2Z 0
M o|ZFoHX U HHS O|RAY As)
&elr o2 F AN K& (EEREED
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
02 2IZHBAAHE R 557,340 545,482 11,858
OXFE2AL R HE 24 557,340
= 278,670
S 278,670
SIZF X ABAFA 2HE(ZD) 300,000 150,000 150,000
= 200,000
& 100,000
308 AXIEHMSOIE 300,000 150,000 150,000
s 200,000
= 100,000
01 AXSHHBeEX= 300,000 150,000 150,000
O22HAX ASAHA H2HH| K& 300,000
[ 200,000
= 100,000
HXO 2 2LMFON 2EH| K& 250,000 250,000
308 NHXIEMISO0IE 250,000 250,000
01 AXHHBSELS 250,000 250,000
Oz gd ZRHAFo) 28] N3 250,000
SIZFSAS K 4,926,863 4,587,351 339,512
= 30,000
Il 1,556,000
< 3,340,863
ottt O/2H L MWt 2Rl X (LET O2H|)(J 1,950,450 1,765,200 185,250
ee)
308 NHXIEFMISOIE 1,950,450 1,765,200 185,250
01 HXHHBSE XS 1,950,450 1,765,200 185,250
OYEX 2A=HI(HE) 1,950,450
SEX QSHl & HIot2el X (HOtEAE 2tel)( 41,304 41,304 0
NEALST)
308 XX HMSO0IA 41,304 41,304
01 AXHH B EES 41,304 41,304
OMOtLE Rt el (Het) 41,304
2ozl XA K@ (LMEX SR X )( 200,000 200,000 0
232)
Il 100,000
& 100,000
307 @120l & 200,000 200,000 0
Il 100,000
= 100,000
02 QB AANHE X 200,000 200,000 0
OYMUEX SSXIXLEH X2 200,000
Il 100,000
= 100,000
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= 2AH== 2A 0 S32281

Hu: OI2F oK L HUHS I2UHMY As}

l;k%’_—i; 9|§L$IQEJ4I%XIIT%ﬁ - S (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
2ottt XIAM X2 (&8 X)) (=1) 1,626,000 1,626,000 0
| 1,355,000
& 271,000
308 XXM SO & 1,626,000 1,626,000 0
| 1,355,000
= 271,000
01 AXSHHBHEES 1,626,000 1,626,000 0
A& K& 1,626,000
| 1,355,000
== 271,000
2otz XXM X (KSdE X&) (=21) 202,000 196,700 5,300
| 101,000
& 101,000
307 QI2tolA 202,000 196,700 5,300
| 101,000
& 101,000
02 QIRHE &AL E = 202,000 196,700 5,300
OXIG2HEH XA 202,000
| 101,000
= 101,000
Q=222 S QS XA (=21) 42,857 42,857 0
= 30,000
& 12,857
307 QI2Ho1 ™ 42,857 42,857 0
= 30,000
& 12,857
01 =¥ =H| 42,857 42,857 0
OL=022Xt S 2AZKIJAAS 42,857
= 30,000
& 12,857
MOHRH 2R o|=H| XI& 232,000 196,000 36,000
301 LetEEZ 232,000 0 232,000
03 AIBI 2 &6 2 (R THEA) 232,000 0 232,000
OMIMIEH L o|S&tAt ol &4 232,000
23St gl g4 2% 632,252 509,290 122,962
308 AXIEMSO0IN 632,252 509,290 122,962
01 AXESHNHBAEES 632,252 509,290 122,962
25T Sl= 84 22 N 632,252
20 A2 MHIA &E 8,888,644 8,438,573 450,071
| 7,458,861
& 1,429,783
3=2g elZet &= 8,621,900 8,136,700 485,200
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N3 PARISR SN : BBoI2D
Hu: LAR0p ABAMEIA B2
el 822s 2Zet &5 (chel: &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
J| 7,311,260
& 1,310,640
S3A=XHEH 29HI(=1) 205,200 202,400 2,800
| 102,600
& 102,600
307 2I2t0IA 205,200 202,400 2,800
| 102,600
= 102,600
02 QIRHE &AL E 205,200 202,400 2,800
OS3AZXNAHH 2 205,200
| 102,600
o= 102,600
S22 0IBMH XA (=1) 3,481,000 3,100,000 381,000
| 2,436,700
& 1,044,300
307 QIZtolA 3,481,000 3,100,000 381,000
| 2,436,700
< 1,044,300
02 QIRHE &AL E X 3,481,000 3,100,000 381,000
QJIE 822z d88)| 2Y 3,481,000
J| 2,436,700
= 1,044,300
AlAME S SSHX USHIXS(21) 78,000 90,000 A12,000
| 39,000
& 39,000
307 2IZtol A 78,000 90,000 212,000
| 39,000
& 39,000
02 QIRHFAAIHE = 78,000 90,000 212,000
OtHAMs S S=SHX WEHIXA 78,000
| 39,000
= 39,000
SSYBIIE EIHZ0 e BX3(21) 1,069,200 1,160,000 A90,800
| 4,460
< 124,740
307 2I2to| ™ 1,069,200 1,160,000 A90,800
| 944,460
< 124,740
02 QIZtABAAIHE X 1,069,200 1,160,000 A90,800
OH|F X s=2=2)|2 2HXA 1,069,200
| 944,460
< 124,740
THSAaEE2)] B3 XA (=1) 23,500 23,500 0
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N3 PARISR SN : BBoI2D
M LF0F SMHIA &5
tel: 229z et &5 EEECE))
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
Il 23,500
403 AXIEHMSA=01H 23,500 23,500 0
Il 23,500
01 XtXIEHHI A= 2 = 23,500 23,500 0
oNssEsEal| 2 NE 23,500
J| 23,500
SETAMNZIZHA 2=(21) 3,765,000 3,560,800 204,200
Il 3,765,000
307 @12t0| & 3,765,000 3,560,800 204,200
Il 3,765,000
02 2B AAMHEX 3,765,000 3,560,800 204,200
OdAH&HEH 2SN 3,765,000
Il 3,765,000
M= A= 266,744 301,873 A35,129
J| 147,601
= 119,143
N TH SR 12,800 16,450 2,650
202 O 5,000 7,650 A2,650
01 =LA B 5,000 7,650 A2,650
oNtss28 AEFA 5,000
307 elztold 7,800 7,800
02 2B A HE R 7,800 7,800
oMtz XNAE 29 7,800
AEHSE 2EXA(=22) 25,200 25,200 0
Il 25,200
308 AXIEHMSOIE 25,200 25,200 0
Il 25,200
01 XM B2 xS 25,200 25,200 0
OoNg MHeZEs2=E 2HAA 25,200
Jl 25,200
HAAEER 2SS (21) 188,600 186,000 2,600
Il 94,300
= 94,300
307 elztold 188,600 186,000 2,600
Il 94,300
= 94,300
02 2B A HE R 188,600 186,000 2,600
OHSE WHesdHH Xl 2S X 188,600
Il 94,300
& 94,300
Hetolg ASAY 2H(=1) 40,144 75,223 A35,079
Il 28,101
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a3 PARISR SN : BBoI2D
. IS QUEA AHIA Mz
el 2XUEAXH EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AXESHNBLEEXS 32,431 25,941 6,490
ORAEHAIY EX01| 32,431
| 21,621
= 10,810
HEIUEASE(21) 6,958 6,240 718
| 4,639
o= 2,319
308 AXIHMSOI& 6,958 6,240 718
| 4,639
& 2,319
01 AIXISHHBAEES 6,958 6,240 718
OHEFERNEHE HE 6,958
J| 4,639
= 2,319
HAEAMD O2H| XA (=1) 27,300 22,800 4,500
J| 18,200
= 9,100
301 LetEEZ 27,300 0 27,300
| 18,200
== 9,100
01 MBI BE X Z([REETHA) 27,300 0 27,300
OFALAEHMR olZH|XIA 27,300
| 18,200
& 9,100
DREUMRZH| XNA(=21) 114,000 103,200 10,800
Il 76,000
< 38,000
301 Lt Z 114,000 0 114,000
| 76,000
< 38,000
01 AR BE X Z2(2REETHA) 114,000 0 114,000
O AR = XI& 114,000
| 76,000
== 38,000
MOof=D| A22e| X (=1) 88,350 0 88,350
J| 58,900
= 29,450
308 RtXIHMSO0I A 88,350 0 88,350
| 58,900
< 29,450
01 IXESHNHBLEEXS 88,350 0 88,350
OHMOiz=D| AZ2el XA (=21) 88,350
| 58,900
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A2 BANS= AN BE2AZD
. IS QUEA AHIA Mz
el 2XUEAXH EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| = 29,450
Ol=0t & A&S0IA0F 2lZ2H X&(=1) 147,000 190,800 243,800
| 98,000
& 49,000
301 LEBEF 147,000 0 147,000
| 98,000
& 49,000
01 ABI2ERHZ([REETHA) 147,000 0 147,000
O0|=0t & 8 H0I40t 2=l KA 147,000
| 98,000
& 49,000
SESOAOIA A L Btor2el(=21) 129,000 114,000 15,000
| 86,000
== 43,000
301 LetBEF 129,000 0 129,000
| 86,000
& 43,000
01 A 2ER2HZ2([REETHA) 129,000 0 129,000
OWELUAIOIA HAH H 2otz 129,000
| 86,000
& 43,000
MY HHAA L BAHD| XA(2) 15,000 9,600 5,400
| 10,000
= 5,000
301 LPBAESZ 15,000 0 15,000
| 10,000
== 5,000
01 A BEHHZ([REETHA) 15,000 0 15,000
ONES UHEHHAL L BHI| X3 15,000
| 10,000
& 5,000
HASE JINAH =HES N (21) 1,923,600 1,325,280 598,320
= 1,603,000
< 320,600
301 LetENZ 1,923,600 0 1,923,600
= 1,603,000
< 320,600
01 MBI EEAGZ2(IREXTHE) 1,923,600 0 1,923,600
OMNASE JIMH & ZHEs X3 1,923,600
= 1,603,000
== 320,600
HAZAH X2 37,697 41,885 N4,188
01 LEIENZ 37,697 0 37,697
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a3 PARISR SN : BBoI2D
. IS QUEA AHIA Mz
el 2XUEAXH EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
03 ALBI 2 & A6z (K THA) 37,697 0 37,697
oA AHl X 37,697
=2NSH AZHAH 25 647,900 647,900 0
= 411,400
& 236,500
olofd A ok 2te| 642,400 642,400 0
= 411,400
= 231,000
olort A RI&2tel 11,700 11,700 0
202 044l 11,700 11,700
01 =WO4HI 11,700 11,700
OolH A X 2el 11,700
FEoAUE 2l 2,100 2,100 0
206 M= 4| 2,100 2,100
01 =4l 2,100 2,100
02z, stdE s dM7 2,100
SIHTHR S KA S (BTLAIY) 2UE XA(21) 609,600 609,600 0
= 406,400
& 203,200
308 AtXIEMSO0IN 609,600 609,600 0
= 406,400
& 203,200
01 AXEHBLEES 609,600 609,600 0
Ot REX2AIE K& 609,600
= 406,400
< 203,200
ZRAE o ZI 2L 2Z 9,000 9,000
201 LEr2AH| 9,000 9,000
01 AtR2telt| 9,000 9,000
OZRT oZ V|23 29 9,000
OIARESSEA A22s(=1) 10,000 10,000 0
= 5,000
& 5,000
301 LetENZ 10,000 10,000 0
= 5,000
< 5,000
01 ASIEEAGIZ2(SREXZTHE) 10,000 10,000 0
Olt*=S=AIt XIZ24| 10,000
= 5,000
== 5,000
2=eletkt |12 XA 5,500 5,500
=0l &At 2K XNE A (HEAIY) 5,500 5,500 0
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